Determinants - Class XlI

Related Questions with Solutions

Questions
Quetion: 01
b2+ 2 ab ac
ab 2 +a? be =
ca cb  a®+b?
A 4a?h??
B.8a2b?c?
C.12a%b%c?
D. a2p?c?
Solutions
Solution: 01
b? 4 2 ab ac
Given:| ab *+a? be
ca cb  a®+b?
) ab?® + ac? ab? ac?
= — a’b bc? + ab bc?
abe ca’® cb? a’c+ bic
Applying C; = C; — Gy — C3
1 0 ab? ac?
= — | —2bc® b+ a®b bc?
abe —2b%c cb? a’c + b3
abc 0 b ¢
= — | =2¢2 2 +d? c?
abe| gz 2 g2y

Expanding along R1,
= —p? (—202a2 — 0% + 2b262) + 2 (—2021)2 +20%% + 2b2a2)
= 2a°b%? + 2a%b*? = 4a*b% P

Correct Options

Answer:01
Correct Options: A



